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HyT-XI1
TAET A (Chemistry)

m:au’%nsﬁw(aﬁﬁm) quifes : 70
Time : 3 Hrs. + 15 Minute (Extra)] [Total Marks : 70)
wmr= Frdw ( General Instructions ) :

it w7 sifrard €1 (All Questions are compulsory.)

T IW F foq e ww F sw w w0 T @ (There is No negative marking for any
Wwrong answer)

-9+ 3 @vel § #1 (There are two sections in the question paper)

Tug-1 (Section-I)
TS WT (Objective Questions)

% 3w (Total Marks) - 35
FF Wit & "ew (Total No. of Questions) - 35

GuE-II (Section-II)
-3 99 (Non-Objective Questions)

T 3t& (Total Marks) 35
Y I WY (Short Answer Type Questions) - , 10 (v 2 3tw)
g WY WeT (Long Answer Type Questions) - 03 (va1% 5 37w)
4. 3 G0 Sl Wl ¥ sioRw fowen ot Ry g #) oy A9 el § Svorer Rweui 3 @
et & W 1 @ IW I
(There are some internal options in some of the long answer type questions, In such
questions you have to answer any one of the given alternatives.)
5. wurEvd {ft ye @ S AwH @ o # 2)
(Answer should be in your own language as far as practicable)
6. e % RW Fempoe Wi fRE e W reEtE WA (Fe waed, T T
1 FAT Feden a2
(Use ())f any electronic gadgets like Calculator, Cell Phone, Pager is prohibited during
exam.
7. TGS Il H IW R Moo e F 3wy fawrey W @ W

(I % o 3 S® () B @ i W Ft A 0 Fafea wE-)

(The answer of objective question is to be given on supplied OMR sheet by completely
darkening the appropriate answer option.
For example if answer is (c) then you should darken it as shown by blue/black pen.

(a) (b) ()] (d)

o



MODEL PAPER ( WT&Q U)

SECTION(@UE) - I

Objective Questions ( TETS W)
g ;1 6 10 e quiik : 35
Time : 1 Hours 10 Minutes [Total Marks ; 35]
wE-1§ Wit 35 TGS WE B IW 3NoTHoMWo W W F1 We7 W 1 |
35 T & Wd W9 1 A &

In Section 1, there are 35 objective type questions, to be answered on OMR Sheet. Question

Nos. 1 to 35 carry 1 mark each.

L In Question Nos. 1 to 35, each question has four alternatives, of which only one is
correct. You have to choose the correct alternative :

w1 W 35 W @ v we § W e frg g & fd ¥ ww & W@
aft fawen = Tafea =t - 35x1=35

L o Sfsw e dw A Sgwana R Y ge Tem e -
The total number of tetrahedral voids in the face centered unit cell is
(@) 6 (b) 8
(c) 10 (d) 12

2 YA ST WA W SR B 9§

Cations are present in the interstitial sites in

(a) Wed T (Frankel defect) (b) wifeHt W (Schottky defect)
(c) Tt 9 (Vacancy defect) (d) OTg @ ]9 (Metal deficient defect)
3. T ) oaE R S 8-

Molality is expressed in

(a) AMW/EET (g/Litre)
(b) A/ENE (mol/Litre)
(c) We/fFoMo (mol/kg)
(d) 379 ¥ F & (None of these)
4. o HifE sfufEa B A feud® #t 7K €

The unit of rate constant for first order reaction
(@ molL's™ b) s
(¢) mol”Ls™ (d) mol™ s

Fof



10.

aR foe TEEtE WNgeTiE & SO A S %W % fag feeft faem aw 0.25
YPUg T Falsd BT B 2

- What current is to be passed for 0.25 sec for deposition of a certain weight of metal

which is equal to its electrochemical equivalent ?
(@ 1A (b) 4A

© 5A (d) 100 A

K4[Fe(CN)g] & Fe ®1 W&t 21

The hybridisation of Fe in K4[Fe(CN)g] is

@ sp’ (b) dsp®

() dZsp? (d) dsp?

STFAE [Co(NH;)4Br,Cl fFg WR 1 wamaa wfvis %@ 8 7
Which kind of isomerism is exhibited by octahedral [Co(NH3)4Br JC1 ?
(a) ot STHAE (Geometrical only)

(b) AT T AT (Geometrical and ionization)

(c) Sfeia Td WHTRERE (Geometrical and optical)

(d) YEEig ug 3@ (Optical and ionization)
%Mﬁmﬁmwmiﬁmaﬁmméﬁ%

The reagent used for identification and quantitative analysis of metal ions is

(a) EDTA (b) DMG
(c) a-nitoso-p-naphthol (d) All of thése
F R T ¢ ?

Which is purine derivative ?

(a) WS (Cytosine)

(b) &HHA (Guanine)

(c) J¥aA (Uracil)

(d) 9™HA (Thymine)

FoTHoTe FET ¥ TS @ g F 9 TR S99 B 98I 8-

The number of Hydrogen bond between Adenine and Thymine in DNA structure is
(a) 1 (b) 2

(©) 3 (d) 4

oo



12,

13.

14.

15.

e feamt w1 frafu g 2 -

Electric switches are prepared from

(a) freres ¥ (Glyptal)

(b) SwTeTEE (Bakelite)

(c) uiferersdd ®/ (Polystyrene)

(d) Ifa-wiieEieEs W @ (Urea Formaldehyde resin)
el R faw agas -

Natural rubber is linear polymer of

(a) 2-Ufaw sgEi-1, 3-8EA (2-Methylbuta-1,3-diene)
(b) 2-9f9@ =gEq (2-Methyl butene)

(c) 2-3fa SgI@-1, 3-TERA (2-methylbuta-1, 3-diyne)
(d) SR |/t (All of these)

FARIET waTe it suftufy § sifedtem @ wiafea = a@ -

Chloroform reacts with oxygen in the presence of light to give

(@) CO, (b) Cl
(c) COCl, (d) CO
FY AT &

Lucas reagent is
(a) ¥ ZnCl, + 9% HCl (Anhydrous ZnCl, + Conec. HC1)

(b) ¥ ZnCl, + 99 HCl (Anhydrous ZnCl, + dilute HCI)
(¢) Zn + WK HCI (Zn+ Cone. HC1)

(d) ZnCl, + §FR TS (ZnCl, + Conc. H,S0,)

fpiet w1 1% Hiet @

1% solution of phenol is

(a) Yfat (Antiseptic)

(b) foa%™M® (Disinfectant)
(c) WHRf@@ (Antimalarial)
(d) wiRfa® (Antibiotic)



17.

18.

19.

20.

21.

22.

NaCl %1 0.IM el foead 1 WERW T 7qHs & 0.1 M Sl sie % e I
&1 febell TN R 2

The osmotic pressure of 0.1M aqueous solution of NaCl is how many times the osmotic
pressure of 0.1M aqueous solution of glucose ?

(a) e (Half) (b) U= (Equal)
(¢) ST (Double) (d) 9% | =i & (None of these)
wom Fifz TRBED ® 99.9% Ui R * fau fee e g *t srawEswal € 2

How many average life is required for completion of 99.9% first order reaction ?

(a) 231 (b) 6.93

(c) 9.23 - (d) 3194 (Infinite)
AR B faw CMC =1 3F B 8

CMC value for soaps is :

(@ 107107 molL™ (b) 1010~ molL™
(¢) 10 - 10" molL™ (d) 102107 molL™

fieest oD TFGEE U6 faaga B-D wgwERs €

Methyl a-D glucoside and methyl B-D glucoside are :

(a) s9wd (Epimers) (b) FHTEETE (Enantiomers )
(c) ¥ (Anomers) (d) 38 ® =¥ & (None of these)
ARoToTo qUT FoTToUo HIS Y[ 2, YR KA HI HRU 8

RNA and DNA are chiral molecules, their chirality is due to

(a) D-sugar 1999 (D-sugar component )

(b) L-sugar @99 (L-sugar component )

(c) TR WH TS (Chiral base unit)

(d) IR HEHe T FHR (Chiral phosphate unit)

weifs T WA T I Ty @

The sweetest artificial sweetener is :

(a) UTeH (Aspartame) (b) UfeT (Alitame)

(c) G (Sucralose) (d) F0T (Saccharine)

et A ® s deRi € 2

Which of the following is narcotic analgesic ?

(a) CfEafr (Aspirin) . (b) AR (Morphine)

(c) Yufiremiel (Paracetamol) (d) ST Toft (All of these)

A

oy



25,

26.

27.

28.

29.

tefuafem < Wy w19 qa fdw ey fam § 2

Which element show diagonal relationship with Aluminum ?

(a) Li

(b) Be

(© N

(d) T4 ¥ ¥ & (None of these)

ety foer § frg oy uig 1 9@ otfue s il g € 7

Which alkali metal has highest reducing power in aqueous solution ?
(a) Li b K

{c) Cs (d) Na

g W1 =1 R ol W w9 ® 2

Which element has lowest ionization energy ?

(a) Li () K
(c) Na (d) Cs
fret % = Seien vt e X 2

Which of the following does not respond haloform reaction ?

(a) HCHO (b) CH;CHO
0 0
(©) I () I
CH; - C - CHj CH; — C — CH,CHj

f1 % = wefem e whem @ R 2

Which of the following gives Fehling solution test ?

(a) CH,CHO (b) CH;CHO
0 0
(© i (d) I
CH, —C - CHj CH; - C-OH

e fafy g0 #F ug e few s @ 2

Which metal is refined by Mond process ?

(@ Ti (b) Zn

(¢) Ni (d) Fe

st seefas & fag sR-d frafafes sfedson s gmm 2 2
Which of the following oxidation state is common for all lanthanoids ?
(a) +2 (b) +3

(c) +4 (d) +5

a==
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32

33.

34,

35.

KMnQ, 31asd B P

KMnOQ, gets reduced to :

(2) K;MnO, & SIEH wream ¥ (K, MnO, in neutral medium )
(b) MnO, ¥ 3T A § (MnO; in neutral medium )
(¢c) MnO, ¥ 3rclig ®reAm | (MnO, in acidic medium)
(d) T | FK 7@ (None of these)

frt § N rUAlTe SIggEeE ¥ ?

Which of the following lanthanoid is paramagnetic ?
(a) Ce* (b) Yb*
(¢) Eu** (@ Lu*
et ¥ wi aem e e ¥ geg eifuem o ® 2

Which of the following ion is the most stable in aqueous solution ?

(a) Mn® (b) Cr**

(c) Ti* @ v*

T K,Cr0; Hid ¥ SR WeilauEe SR 9l € @ e @ 3= BN w1 SR
%

When hydrogen peroxide is added to acidified KoCr207 solution, a blue colour is
produced due to :

(a) CrO; =1 fmiur (Formation of CrO;)

(b) Cr,05%1 FHIWT (Formation of Cry03)

(¢) Cro}~ =1 Fmiv (Formation of Cro3™)

(d) CrOs® FfoT (Formation of CrOs)

{aeH % oy faaee wiedt owdt wu R

The correct order of bond dissolution enthalpy of halogens is :

(@) F,>Cl,>Br,>1, ' () F <Cly <Bnp <],
© CL>Bn>K>1, (d) I, <Br <Cl, <F,
SIS 1 AT fave 39S o fava ® wOa P ¢

The ionisation enthalpy of oxygen is equal to that of :
(a) He (b) Ne
(c) Ar (d) Xe



SECTION (@vUE) - 11
Non-Objective ( TT-arqfes )

g ;2 6e 05 fame quis : 35
Time : 2 Hours 05 Minutes [Total Marks : 35]

T 30T W9 : ( Short Answer type questions) :

frdw : v WET 1 ¥ 15 @ g ST W €)1 39 wifE @ vew e @ fao
2 o Fraifta ) 30 @ fgl =@ = 3wt 2T &)

Instruction : Question Nos, 1 to 15 are Short Answer Type. Every Questions is of 2 marks.
Answer any ten questions. 10x2=20

1.

TgIfras FieEs U6 TEAN-HIeES H WREW I Hi . 2
Describe multimolecular colloid and associated colloid with example.

T T foEs T 2.8 g om™ ®, 4x 1078 cm TS TR B W@l @ WY wow
Hf5a ThF FINSH AW T o F QHIvah A Bl TOA FAfA) 2
An element with density 2.8 g cm™ forms a face centred cubic unit cell with edge length

4 x 1078 ¢m. Calculate the molar mass of the element.

100 g o7 & gor amt dAfs $1 9E0 B T S S ITWH SOFETE F 048K § em
21 (fiek &1 snfvad F9HH = 256 gmol ™!, K¢ = 5.12K kg mol ™)) 2
Calculate the mass of compound to be dissolved in 100g of between to lower its freezing
point by 0.48K. (Molar mass of compound = 256 gmol‘l, K¢ =5.12K kg mol_l)

W wred faft @ deg swed wive @ fagid # v S 2
Describe the principle of Froath floatation process and electrolytic refining.
Rt oA wfafe oo fafaaaa Svewo & @it =t fafeg) 3

Write the equation involved in Reimer Tiemann reaction and Williamson synthesis.
TR H1 THRREE gy afifear #t %0 fradfiea ® @ FROT =1 99F $0 2

Give two reasons to explain less reactivity of chlorobenzene towards a nucleophilic
substitution reaction.

9 wafla w4 ? : 2
How will you convert ?

(a) Acetamide to Methanamine
{b) Phenol to 2, 4, 6-tribromophenol



10.

11.

12.

13.

14.

15.

frfafiea =t sveia vfa ® wgd w9 & =afem w:t 2
Arrange the following in order of increasing acid strength.

(a) CH3;CH,CHBrCOOH; CH3CHBrCH,COOH; (CH3),CHCOOH
(b) Benzoic acid; 4-methoxybenzoic acid; 3, 4-dinitrobenzoic acid

(a) Soeg == T & ? 2
Why halogens are coloured ?
(b) XeOF, =1 ifta® W&=T T/ |
Draw the molecular structure of XeOF,.
et Y qui w | 2
Complete the equation :
(a) XeFy +OF, —»  (b) NaOHchot and conc.) +Cly —

it wa sfufwa w0 ¥ J fasis T 2
Write two differences between molecularity and order of reaction.

Frfafaa sfafwar =t gof +3 2
Complete the following reactions.

(8) Cry02 +20H - (b) MnOj +8H" +5e—

[MnBr,[*” % ‘@@ s’ gew1a smul ®1 99 5.9 BM #1 HRa S @1 sy
I F 2

‘Spin only’ magnetic moment of is [MnBrs]* is 5.9 BM. Find the geometry of the
complex ion.

FA T @ T A < fadd d o R 2
Name two poisonous gas formed from chlorine gas.
riiferam ¥ TRt W oA Y @ fag S fef gemEw 2

Suggest a condition to reduce alumina by magnesium.



e et wew -

Long answer type questions :—

16.

17.

(i) ¥ vigell A TR TF TS Fal B HUR W IR @ g TUEEE A
% IR W Fafeea w1

Arrange these metals in increasing order of their reducing power based on their
standard electrode potential.

K'/K=-2.93V,Hg** /Hg =0.79 Vv, Ag*/Ag = 0.80V "y
(ii) wfea CaCl® 20 Mo Hfwrm Ta #0 § frmt $02 formpm =1 smaeassar ahft 2

How many faraday of electricity is required to obtain 20g of calcium from fused
CaCl, ? 1

(iii)  2Cr(s) +3Cd* (aq) > 2Cr** (aq) + 3Cd(s) Sfefipan Tl o ¥ ¥ Fh-mr
TS HURHF JRRE ¢ ?
Which electrode is negatively charged in the cell performing cell reaction
2Cr(s) +3Cd?* (ag) o 2Cr** (aq) + 3Cd(s) 1
(iv) 0.00241 M Wiife o7 F1 Srerwa 7.896 x 1075 sem™! 1 Twa} HeR e
Yiiwfera i

The conductivity of 0.00241 M acetic acid is 7.896 x 10> s em™!. Calcuiate its

molar conductivity, 1
(v) 9 W0 % T soEfs W BN a6 soees whihea ford)
Write the electrode reaction at each electrode in Fuel cell. 1
Or,

T TEgs fava w1 R 2 e il fava @ TR fee YR E E $
What is single electrode potential? How would you determine the single electrode potential?

243=5
(i) emifm 3 ® foaw {8 wm &1 9ui o 2
Describe Haber’s process for the manufacture of NH;. 2

(it) & SO, ¥ ? g Se0, 3 ? =@M Fi)
Explain why SO, is a gas but SeO, is solid ? 1

(ifi) il SRR T TER B ToNE T FUEE § w2 e w5t
Explain why oxygen and sulphur have large difference between melting and boiling
point. 1

10

£of



18,

(iv) Peroxodisulphuric acid ®1 GG €<

Draw the structure of peroxodisulphuric acid
Or,

TeHE o IERT @ e fafa & fagia w fefaty w1 o w0

Describe the principle and procedure for the manufacture of sulphuric acid by contact

process.
In the following reaction, write the structures of A, B, C, D and E.

Bry/KOH NaNOp +HCI , ~ _H3PO; o

(C7H7ON) _— C6H5NH2 273K >
(A)
l CHCl; + NaOH l K1
B D
Or,

fr =1 9 wfafda w3
(a) Sfs @ Tt (b) e ¥ FrEasTERETTRS
(c) TUEA STeHied ¥ fRediseEs
How would you convert the following :
(a) Benzene to aniline (b) Aniline to phenylisocyanides

(c) Ethyl alcohol to acetaldehyde

11

243=5
5

2+142=5



TS WeHl @ I (Answer of objective questions) :-

_ 1. (b 10. (b) 19. (c) 28. (¢)
% 2. (a) 11. (b) 20. (a) 29. (b)
-‘ 3. (©) 12. (a) 21. (b) 30. (b)

4. (b) 13. (c) 22. (b) 31. (¢)
5. (b) 14. (a) 23. (b) 32. (b)
6. (©) 15. () 24. (a) 33. (d)
7. (©) 16. () 25. (d) 34. (c)
8. (d) 17. (b) 26. (a) 35. (d)
9. (b) 18. (c) 27. (a)




